RG-50S

MOTOR BASE
MOTORBLOCK

0228
250
(A) \ e
100 H@ i
1
momaﬁé A L 70,130
120 I 160,310
170,175 % 330,335
i |

L 390

120,350,355
360,370,380 A LOCTITE NO.247

VEGETABLE PREPARATION ATTACHMENT
GRONSAKSSKARAR-TILLSATS

.. \
/ v
? /
/ ‘lllll”m'#,/l‘m

HALLDE 3ANACHbIE YACTH



RG-50S

yepTex Homep

Ne uzgenus

Onucanue

WTYK

10 1414 Kopnyc, Bepx, Bkno4as Ban Hoxa 1

30 10259 PE3VNHOBAS YNNOTHAOLWASA LUAMBA, 18X30X7 1

70 14344 BWHT, M5X12 4
100 1411 LLIKMB BAINA HOXXA B CBOPE 1
110 24293 KPBILLKA SNEKTPOHUKN, AM 1
115 24268 KPbILLKA SNEKTPOHUKW, UL 1
120 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 5
130 14084 CTOMOPHASA LWAMEA, FBB 4.1 A2 1
150 15527 KPOHLUTEMH ANA MNAThl ANEKTPOHWKN, AVC BS-9A 4
160 14753 BWHT, RT-PTF 5.0X20FZ 4
170 24343 OnekTtpoHHas nnata CC 230 1 50 1
175 24344 OnekTpoHHas nnata CC 110v,60 1
210 24340 Kopnyc, Hu3 1
220 10494 PE3VHOBAA HOXKA, F-107 B 4
230 14333 BWHT, MRX-H M4X12 A2 70 4
240 10263 KOINbLIEBOE YMNOTHEHWE V-18A 1
250 1415 BAIN HOXA B CBOPE 1
260 24146 LWTN®T, BAIT HOXA 1
270 10679 PEMEHb, GT 3MR 0408 18 1
310 24292 KPOHLUTEMH, OBUIATENb, AM 1
330 15711 OBUIATENb, 220-240 1 50/60 1
335 24179 OBUIATENb, 110-120 1 50/60 UL 1
350 15149 WHyp nutanus CB 1® gns CC-34/VCB-32/RG-50 1
355 24211 KABEJTb MNMATAHWA, 120v US 1
360 10589 MPEOOXPAHUTENBHLIA 3AXWM KABEIA, 55-016-89 1
370 14336 BWHT, MRT-H M4X25 A2 70 2
380 15422 KPEMNEHWE KABENA, NK-5N 1
390 24296 KONbLIEBOE YMNOTHEHWE, BEHTUNATOP 1
450 1413 LUTNST AKTUBATOPA, SALUNTHLIN BBIKITIOYATEND 1
500 24222 PYYKA «0-1» C MNACTUHYATOW NPY>XMHOW 1
520 24295 MOBOPOTHbIN MEPEKIIIOYATENb, CC-32-1 1
530 24278 I'EPKOH, NMPEOOXPAHUTENBHLIN 1
535 24332 ['epkoH npefnoxpaHuTenbHeii AM UL 1
600 24157 NECTUK HALLDE 1
610 83032 MNACTUHA BbITANTKMBATENA 1
650 24634 BEPXHWA ANEMEHT YCTPOWCTBA NOOAYN 1
750 24335 Y3en mukpoBbikntovaTens B coope AM UL 1

HALLDE 3ANACHbIE YACTH




